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28 HERREO R SEE{E R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NFEE(BFEIEENARER)
Feckir ™ 2277 0.002 - 0.497 0.010 =
AT 1.512 0.020 - 0.419 0.086 =
/L% (HCI) 4.545 0.027 - 0.183 0.130 2
SFAEE (HF) 0.306 0.011 - 0.095 0.031 =
—ZMEWT (SO2) 15.147 0.272 - 5.193 2.818 =
—& (L% (CO) 7.578 0.001 - 0.162 0.089 =
FE(EY (NOx)
PLIZ&AEE (NOy) 30.303 1.126 - 11.732 2.710 =
R
(b)|[FHEEEH - HI9E (HFEFRENAGREE)
AR 0.756 0.005 - 0.022 0.010 =
SN 0.756 0.043 - 0.135 0.086 =
/L& (HCI) 0.756 0.097 - 0.147 0.129 =
LS (HF) 0.072 0.022 - 0.042 0.031 =
—21EHi (SO2) 3.789 1.803 - 3.236 2.821 =
—&{Ef% (CO) 3.789 0.041-0.123 0.089 =
FEIEY (NOx)
DL=%AEE (NO2) 15.147 1.667 - 4.577 2.724 2
SR
28 HERREO BERaE R ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZBI{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0011 =
R A 0.0378 <0.0050 &
T Ry g ) 7.575 x 10 <5.665 x 10 =
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28 HERREO R EHEME R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NFEE(BFEIEENARER)
Feckir ™ 2277 0.004 - 0.091 0.015 =
AT 1.512 0.000 - 0.408 0.080 =
/L& (HCI) 4545 0.062 - 0.277 0.177 =
SAEE (HF) 0.306 0.010 - 0.101 0.030 =
—ZMEWT (SO2) 15.147 0.535-5.031 2.594 H
—%& Ll (CO) 7.578 0.001 - 0.100 0.045 =
FALY) (NOx)
DL=%AEE (NO2) 30.303 0.356 - 10.318 1.600 2
EFE
(b)|[FHEEEH - HI9E (HFEFRENAGREE)
AR 0.756 0.008 - 0.032 0.015 =
LA 0.756 0.042 - 0.140 0.080 =
/L& (HCI) 0.756 0.159 - 0.193 0.177 2
SAEE (HF) 0.072 0.023 - 0.040 0.030 =
—&/EHi (SO2) 3.789 2.179 - 3.057 2.593 =
—&{Ef% (CO) 3.789 0.032 - 0.061 0.045 =
FEIEY (NOx)
DL=%AEE (NO2) 15.147 0.754 - 4.015 1.598 2
SR
28 HERREO RS S R
(kg/hr) (kg/hr) (/)
) BHEN (HZBI{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0013 =
R A 0.0378 <0.0058 &
T Ry g ) 7.575 x 10 <6.314x 10 =
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28 HERREO R EHEME R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NFEE(BFEIEENARER)
Feckir ™ 2277 0.002 - 0.063 0.004 =
AT 1.512 0.007 - 0.474 0.076 =
/L% (HCI) 4545 0.003-0.114 0.062 2
SAEE (HF) 0.306 0.000 - 0.042 0.023 =
—ZMEWT (SO2) 15.147 0.000 - 7.767 2.824 H
—%& Ll (CO) 7.578 0.013-0.136 0.067 =
FE(EY (NOx)
PLIZ&AEE (NOy) 30.303 1.293 - 10.041 2.527 =
R
(b)|[FHEEEH - HI9E (HFEFRENAGREE)
AR 0.756 0.003 - 0.017 0.004 =
SN 0.756 0.043 - 0.119 0.076 =
/L& (HCI) 0.756 0.034 - 0.097 0.062 2
SAEE (HF) 0.072 0.013 - 0.031 0.023 =
—&/EHi (SO2) 3.789 2.489 - 3.003 2.828 =
—&{Ef% (CO) 3.789 0.041 - 0.097 0.067 =
FEIEY (NOx)
DL=%AEE (NO2) 15.147 1.738 - 3.573 2.547 2
SR
28 HERREO BERaE R ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZBI{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0011 =
R A 0.0378 <0.0051 &
T Ry g ) 7.575 x 10 <5.595 x 10 =
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Y& BF
28 HERREO R SEE{E R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |[FrEEH - §/NFEE(BFEIEENARER)
Feckir ™ 2277 0.006 - 0.159 0.013 =
AT 1.512 0.032 - 0.473 0.078 =
/L% (HCI) 4.545 0.076 - 0.327 0.163 2
SFAEE (HF) 0.306 0.013-0.118 0.040 =
— /BT (SO2) 15.147 0.058 - 7.611 2.655 =2
—& (L% (CO) 7.578 0.005 - 0.172 0.095 =
FALY) (NOx)
PLIZ&AEE (NOy) 30.303 0.936 - 11.323 2.172 B
EFE
(b)|[FHEEEH - HI9E (HFEFRENAGREE)
AR 0.756 0.008 - 0.016 0.013 =
SN 0.756 0.056 - 0.121 0.080 =
ZF{E% (HCI) 0.756 0.151 - 0.185 0.164 2
LS (HF) 0.072 0.033 - 0.054 0.040 =
—&dEHR (SO2) 3.789 2.455 - 2.798 2.652 2
—&{Ef% (CO) 3.789 0.019 - 0.137 0.093 =
FEIEY (NOx)
DL=%AEE (NO2) 15.147 1.510 - 4.177 2.189 2
SR
28 HERREO RS S ERE
(kg/hr) (kg/hr) (/)
) BHEN (HZB{LERFTEE)
7K 0.003789 <0.0003 =
R pEHY A E 0.003789 <0.0012 =
R A 0.0378 <0.0054 &
T Ry g ) 7.575 x 10 <5.924 x 10 =
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